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= 85,940 55,565 30,375
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= 16,529, 158 11,908, 161 4,620,997
S50z elmet = 6,572,919 5,214,819 1,358,100
=2 5,000 0 5,000
J| 4,700 10,500 A5,800
2 85,940 55,565 30,375
== 90,650 65,750 24,900
= 6,386,629 5,083,004 1,303,625
2358S I3 =i 6,419,919 4,811,819 1,608,100
= 5,000 0 5,000
D 4,700 10,500 25,800
= 85,940 55,565 30,375
< 90,650 65,750 24,900
= 6,233,629 4,680,004 1,553,625
ZoteE At 367,700 305,600 62,100
= 82,140 51,765 30,375
= 285,560 253,835 31,725
201 Lt AH| 30,100 18,000 12,100
01 AFR22|H] 12,100 0 12,100
Otz detac =239
200,000& = 459 9,000 0 9,000
OLfdE&d L OHUAEH HIANEHS
ns 1,000,000& 1,000 0 1,000
ORUH29 AAMARALE
70,0002 * 10& * 33 2,100 0 2,100
307 GI2t0IH 308,000 273,000 35,000
2 82,140 51,765 30,375
= 225,860 221,235 4,625
02 DIZHEASE R 278,000 243,000 35,000
O2HDE N ALY 123,000 123,000 0
—=3stned X 26,000,000 =14 26,000 26,000 0
= 25,100 5,100 20,000
= 900 20,900 20,000
— 22T A2 XA 40,000,000 * 14! 40,000 40,000 0
= 21,691 34,851 A 13,160
= 18,309 5,149 13,160
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57,000,000 * 14! 57,000 57,000 0
= 35,349 11,814 23,535
= 21,651 45,186 A23,535
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405 XtarF S| 19,000 4,000 15,000
02 TATYYI 15,000 0 15,000
OBANLHES YTNHHD TN 22
10,0002 * 1,000 10,000 0 10,000
OnUY=HAN 7Y 5,000, 0002 5,000 0 5,000
=S E A XIS 172,420 155,420 17,000
307 12+0IH 167,500 150,500 17,000
02 BIHFABE 25,000 10,000 15,000
Ot EAEROE HFH2AH SIS
15,000, 0002 15,000 0 15,000
04 BIFBAIBE 142,500 140,500 2,000
OMOtel ZA2 At XI® 5,000,008 +13] 5,000 3,000 2,000
SSHA X BSSAY D 424,000 99,000 325,000
= 85,500 60,500 25,000
2 338,500 38,500 300,000
307 12+0IH 424,000 99,000 325,000
< 85,500 60,500 25,000
2 338,500 38,500 300,000
04 SIABARE 371,000 46,000 325,000
OZHIEZ ALY 371,000 46,000 325,000
—24+25 =X 335,000 10,000 325,000
SYULOLSH A 335,000, 0002 335,000 10,000 325,000
< 35,000 10,000 25,000
2 300,000 0 300,000
250E JIBEs 5,372,019 4,167,019 1,205,000
401 AlEHI2L S0 5,372,019 4,167,019 1,205,000
01 Al 4,490,000 3,785,000 705,000
OXMALMAY FHAY LT HL
840,000, 0002 840,000 785,000 55,000
O2stozs2 2 3,650,000,0002 3,650,000 3,000,000 650,000
02 22l 871,219 371,219 500,000
Osstozsi2 A 871,219,0002 871,219 371,219 500,000
N2 SX & (PUHZHRZHR) 10,000 21,000 A 11,000
p 4,700 10,500 A5,800
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2 2,650 5,250 ~2,600
307 12+0I 10,000 21,000 A 11,000
p 4,700 10,500 A5,800
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2 2,650 5,250 A2,600
04 QIABALRE 10,000 21,000 A 11,000
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—PHBUNE MK 10,000,000%! 10,000 21,000 A11,000
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2atRe B FH 3,018,703 2,440,972 577,731
= 529,690 523,917 5,773
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= 455,500 448,500 7,000
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& 545,900 603,943 A58,043
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01 Al&H| 830,000 937,962 A 107,962
OZHIEx AL 806,000 913,962 A 107,962
~CAESHWES(HE SISZM DI 5
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04 QIBALEE 601,500 565,000 36,500
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2 1,500,00024 1,500 0 1,500
O¥sY HOIESHSE SHXY  1,500,0008 1,500 0 1,500
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SR CHE X2 10,000,0008 * 14} 10,000 0 10,000
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10,000,0002! 10,000 0 10,000
OB LRHOIESHE X 10,000,0002 10,000 0 10,000
olzal MSEEN 41,856 20,928 20,928
| 20,928 10,464 10,464
2 20,928 10,464 10,464
307 QI2H0IH 41,856 20,928 20,928
| 20,928 10,464 10,464
2 20,928 10,464 10,464
VR EES 41,856 20,928 20,928
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| 62,784 41,856 20,928
2 62,784 41,856 20,928
307 212+0IH 125,568 83,712 41,856
| 62,784 41,856 20,928
2 62,784 41,856 20,928
02 QIRAMBE 125,568 83,712 41,856
OIZ A 125,568 83,712 41,856
—HUR MEBHMSNER N
125,568, 0002 125,568 83,712 41,856
| 62,784 41,856 20,928
2 62,784 41,856 20,928
MEASXAOID)(2E) 10,000 0 10,000
| 4,600 0 4,600
= 5,400 0 5,400
301 LBAS 10,000 0 10,000
| 4,600 0 4,600
= 5,400 0 5,400
02 ZEIUSKS 10,000 0 10,000
OIZ A 10,000 0 10,000
—=0{0 HAE maZ N 10,000,0008 10,000 0 10,000
| 4,600 0 4,600
= 5,400 0 5,400
MENE 29 95,589 80,589 15,000
MEAL 2o 73,994 58,994 15,000
201 Yer2g| 58,984 48,984 10,000
02 IZ2Y| 51,624 41,624 10,000
02222 2 AA 37,384 27,384 10,000
~MEHSTAL L MRS
10,000,000 10,000 0 10,000
405 XHAHE S 5,000 0 5,000
01 RMUSEH S| 5,000 0 5,000
ORSHHMEI 2 5,000, 0002 5,000 0 5,000
HMEAE MYl 3,939,411 2,652,842 1,286,569
= 330,000 330,000 0
2 3,609,411 2,322,842 1,286,569
MEANL 25 2 Zy| 2,437,652 1,451,063 986,589
308 XHXIEHH SO & 300,000 0 300,000
rEPIENEEES 300,000 0 300,000
ORVHSHEISNAY (AAZS DL ST
HSAIS) 300,000,0008 * 14! 300,000 0 300,000
401 Al&HIL 20| 2,137,652 1,451,063 686,569
01 Al&H] 2,132,639 1,446,050 686,569
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100,000,000 * 14! 100,000 0 100,000
OFLEBINSAMSAS (73 2) 443,608 297,850 145,758
—EXNs2NF 443,608,000 443,608 297,850 145,758
OdEM=AZU st &% 379,971,000 379,971 248,200 131,771
O&t =% ¢ A B2 Ard 100,000,000 100,000 0 100,000
OFHZ HOER ZHNY 5=
156,000,000 156,000 0 156,000
OFdH AUXTMCUAY ZdAIE 2AEHES
50,000, 000& 14 50,000 0 50,000
O=gd HoIE=SE EXNHY
3,060,000 * 14| 3,060 0 3,060
SASLEEsHe22E 1,499,980 1,100,000 399,980
s 330,000 330,000 0
= 1,169,980 770,000 399,980
401 A EHIL 201 1,499,980 1,100,000 399,980
s 330,000 330,000 0
= 1,169,980 770,000 399,980
01 Al£Hl 1,494,600 1,096,054 398,546
O S3 AHAMY 1,494,600 1,096,054 398,546
—EASHERSE 2E2LE  1,494,600,000& 1,494,600 1,096,054 398,546
s 330,000 330,000 0
= 1,164,600 766,054 398,546
03 AIZR0iH 5,380 3,946 1,434
O E3 A MY 5,380 3,946 1,434
—SASEERSE c22E 5,380,000& 5,380 3,946 1,434
HANL&sLHY (=) 0 100,000 100,000
401 A &HIL 201 0 100,000 A 100,000
03 A&E20HYI 0 100,000 100,000
Oltds Mayssd Zd8(14) 03 0 100,000 100,000
i 54 116,943 114,143 2,800
Il 12,000 12,000 0
S 25,260 25,260 0
= 79,683 76,883 2,800
FAd yEA 29 87,013 84,213 2,800
Il 12,000 12,000 0
= 25,260 25,260 0
= 49,753 46,953 2,800
FAEMNEA ALY TZ28 2T 27,713 24,913 2,800
= 8,200 8,200 0
i 19,513 16,713 2,800
101 el H] 13,713 10,913 2,800
S 5,400 5,400 0
= 8,313 5,513 2,800
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10 JIZtHI2E2HEES 13,713 10,913

OSHIEXZ ALY 11,913 10,913

—UTHEEZOIEIRER) 1,113,000& 1,113 113
OstnEZSAMGAL E3HIXR

100,000& «2H «9& 1,800 0

HY2IZH (2322 1) 165,326 168,930

= 9,500 9,500

= 155,826 159,430

Jl=&Hl 61,236 64,840

JI=&Hl 61,236 64,840

201 LEH2HH| 32,436 36,040

] 32,436 36,040

R 28,396,000& 28,396 32,000
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